

DELHI DEVELOPMENT AUTHORITY OFFICE OF THE EXECUTIVE ENGINEER COMMONWEALTH GAMES DIVISION NO.1 SCHOOL BLOCK, SHAKARPUR, DELHI – 110092 E-mail: eecgd1_dda@yahoo.com Ph. No. 011-22481602(Off.)

No. F.5 (358)2022-2023/EE/CGD-1/A/DDA/ 1838

Date:

13/3/24

Τo,

Sh. Rahul Suryavanshi D-368, Ganesh Nagar, Pandav Nagar Complex, Delhi - 110092

Name of work: SH:		Maintenance of Completed Scheme under NA-II at CWG Village Site. Improvement of road leading to Treatment Plant at CWG Village.
E-tender ID	;	2024_DDA_788261_1
	:	08/EE/CGD.1/DDA/2023-2024
	1.	Letter of Intent No F.5 (358)2023-2024/EE/CGD-1/A/DDA/1717
Nelerence.	1.	Datad 29/02/2024
	2.	Performance Guarantee submitted in shape FDR A/c No.
	۷.	42761641797 dt. 04/03/2024 amounting to Rs.51370/- of State
		42/61641/9/ dl. 04/05/2024 anounting to there a
		Bank of India, Pandav Nagar, Patparganj, Delhi-110092.

Dear Sir,

Your percentage rate tender for the above mentioned work has been accepted on behalf of Delhi Development Authority at your tendered tender rates as per detail given below:-

1.	Estimated cost	Rs.1899424.00 (Rupees Eighteen Lakh Ninety Nine
		Thousand Four Hundred Twenty Four only).
2.	Quoted and accepted rate	 @ (-)45.91% below (Forty Five point Nine one percent) below the estimated cost on DSR- 2021
3.	Quoted tender amount	Rs.1027398/-(Rupees Ten lakh twenty seven thousand three hundred ninety eight only)
4.	Accepted tender amount	Rs.1027398/-(Rupees Ten lakh twenty seven thousand three hundred ninety eight only). (As per Annexure
		enclosed).

You are requested to attend this office along with a non-judicial stamp paper worth Rs.100/- (Rupees one hundred only) to complete formal Agreement within 15 days from the date of issue of this letter.

You are requested to contact Asstt. Engineer-2 of this Division and to start the work at once. Please note that the time allowed for carrying out the work as entered in the tender shall be reckoned 10th day after the date of issue of letter of award to commence the work.

The time allowed for execution of the work will be 60 (Sixty) days only.

Thanking You,

Encl.: Annexure Schedule of quantity.

Yours faithfully,

(Raieev Kr **Executive Engineer** C.G.D.1/D.D.A.

Copy to: -

- 1. Chief Engineer/EZ/ DDA.
- 2. S.E./Eastern Civil Circle-2 /DDA. 3.
- Director (System), DDA through E-Mail ddatender@dda.gov.in for hosting the award letter on DDA's website www.dda.gov.in 4.
- Secy. (CRB), DDA. 5.
- Dy. CAO/CAU/EZ/DDA. 6.
- All Executive Engineers, Eastern Maintenance Divisions & Commonwealth Games Divisions-3 & 4, DDA. 7.
- Labour Commissioner, 5, Sham Nath Marg, Delhi-54 for information please. 8. EE (QAC) I, DDA.
- 9.
- Income Tax Officer (Contractor Circle), 21st Floor, Civic Centre, Minto Road, New Delhi-110002. 10.
- Sales Tax Officer (Work Contract Cell), Ward No.4, Bikri Kar Bhawan, ITO, New Delhi. 11.
- Sr. A.O. (Works)-I/DDA. 12.
- F.O. to C.E. /East Zone/ D.D.A. 13.
- Sr. A.O./CAU/EZ/DDA. 14.
- A.E.-2, CGD.1, D.D.A. along with a copy of Annexure Schedule of Quantity with the following direction:
 - **a)** To get relevant register from CB/CGD-1/DDA under the signature of undersigned.
 - b) Test check/record of measurement on all important/hidden items is to be done by AE to the extent of 100%.
- 15. A.E. (P)/CGD.1/DDA.
- 16. A.S.O., C.G.D.1, D.D.A.
- 17. Copy to agreement and all concerned files.

Executive C.G.D.-1/D.D.A

ANNEXURE (SCHEDULE OF QUANTITY)

 Name of work
 Maintenance of Completed Scheme under NA-II at CWG Village Site.

 SH:
 Improvement of road leading to Treatment Plant at CWG Village.

 E-tender ID
 2024_DDA_788261_1

 NIT No.: 08/EE/CGD.1/DDA/2023-2024

ltem No.	Item Description	Quantity	Units	Rate in Rs. P	AMOUNT in Rs. P
1.00	Hiring and Deployment of hydraulic Excavator (3D), it includes operator, lubricant Fuel and other relevant tools & plants etc. along with disposal of the excavated material lead upto 50m and all lifts, all complete as per directions of Engineer-in-charge. (Shift of 8 hours).	5.00	Per Shift	9365.55	46828.00
2.00	Dismantling tile work in floor and roofs laid in cement mortar including stacking material within 50 meters lead. For thickness of tiles 10 mm to 25 mm.	45.00	Sqm	60.50	2723.00
3 00	Providing and fixing prepolsihed precast concrete designer tiles 20mm to 25mm thick extra heavy duty of approved brand and manufacture (ultra tiles or equivalent) and of required shape and soze over a bed of 20mm thick cement mortar 1:4 (1 cement 4 cparse sand, jointed with neat cement slurry including pointing the joints with ready mixed painting material complete in all respect as manufacturers specifications and direction of engineer in charge.	126.00	Sqm	1191.90	150179.00
4.00	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: Two or more coats on new work.	82.00	Sqm	131.45	10779.00
5.00	Disposal of building rubbish/ malba/ similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	5.00	Cum	219.35	1097.00
					1

Quoted and accepted tender amount			Rupees Ten Lakh Twenty Seven Thousand Three Hundred & Ninety Eight only				
Total in Figures Quoted Rate in Figures Quoted and accepted Rate in Figures		_	1027398.00				
			Less (-)	(-)45.91% below	1899424.00 872026.00		
						9.00	Add GST factor 0.0633 on amount of item No. 1 to 8.
3.00	Providing and laying at or near ground level factory made kerb stone M-25 grade cement concrete in position to the required line, level and curvature, jointed with cement mortar 1:3 (1 cement : 3 coarse sand), including making joints with or without grooves (thickness of joints except at sharp curve shall not to more than 5mm), including making drainage opening wherever required complete etc. as per direction of Engineer-in-charge (length of finished kerb edging shall be measured for payment). (Precast C.C Kerb stone shall be approved by Engineer- in-charge).	7.70	Cum	8613.55	66324.00		
7.00	Providing and laying non-pressure NP2 class (light duty) R.C.C. pipes with collars jointed with stiff mixture of cement mortar in the proportion of 1:2 (1 cement : 2 fine sand) including testing of joints etc. complete 150 mm dia. R.C.C. pipe	30.00	Metre	493.10	14793.00		
5.00	Providing and laying factory made chamfered edge Cement Concrete paver blocks in foot path, park & lawns driveway or light traffic parking etc. or required strength, thickness & size/shape, made by table vibratory method using PU mould, laid in required colour & pattern over 50mm thick compacted bed of sand, compacting and proper embedding/laying in iter locking paver blocks into the sand bedding layer through vibratory compaction by using plate vibrator, filling the joints with sand and cutting of paver blocks as per required size and pattern, finishing and sweeping extra sand, complete all as per manufacturers direction of Engineer-in-charge. A) 60 mm thick Cement concrete paver block of M-35 grade with approved colour, design & pattern.	1602.00	Sqm	932.35	1493625.00		

. ·

-

- .

* • • 1 • •

(Rajeev Kr. Sharma) Executive Engineer C.G.D.1/D.D.A. ~